FRIOFEARERERR (BIRE
FR31E3 A 22ARAE GRERIE)

1NREEBEFEBTLHLDE. BEZOEVLGHEENRONET,

2) FTIETRLTWAMEB L., BidK. BEABRE-A VI RUVELIEESEREEMEMICE T2RERERD
BEDE. MBMTHIZENRINZLDTY  GH. FEROTEHEI/LGEVERY, THRTRLTWSREIL. E
iRICEHOMEFETRBAL TN E-BRTHIIEERLTLET,

BAMBICOVWT. SEFT., IHE/ASEEINR#LMRE I ETHE/ASEENTRELABIZEAILT
WEY,

. BasmE
i BaH papy | AR
[#HiE/RAEEENRSTRE] [#i/RAEEENARELRE]
mas | oo | w0 | GG
BED 14,814 —
KED 6,987 5 FIA3), A7F(2)
L |FR-ARRER] 342 —
EER - 305 81 :L/:;ﬁgﬁs)»._fwymmwyﬂemavm(n.
K 30 —_
0 1,360 9 ﬁ.ﬁiﬁ’ggﬁﬂ) F/aMI R, HAIFFES).
et 29,452 125 116 9
2EY 3,046 38 ﬂzgj]?(g)%i:?;ﬂﬁ% BASMD(3), TSE(6).
BED 21,963 —
JKEW 2,108 —
ERE (FH-FLRARSR 81 —
HAEBEHRRA 306 17 LIV AN2) VXTI TAG), RO AR )
K 2 —
Z Dt 85 —
Ivat 27,591 55 55 0
BED 1,084 2 aV7I5(2)
BED 20,205 —
JKEW 953 —
e |FEH-ELREARS 51 —
TR g g 19 =
K 2 —
Z Dt 101 —
et 22,415 2 2 0
BED 1,821 —
BED 31,497 —
JKEW 151 —
o |FE-ERRER] 84 —
BRR N m 201 o8 | assimes
K 3 —
Z Dt 30 —
Ivat 33,877 24 24 0
BEY 649 30 25D H9), 2L T7IS5), LTI F(19), L85 (1)
BED 26,030 —
JKEW 234 —
BER £2-FRARR 47 — ‘
MR QTE,%EM’}S 88 22 AR VXTI RA9). ZRUTCHRAR)
K 13 —
Z Dt 138 —
Ivat 27,199 52 52 0
BED 808 —
BED 4,281 —
IKEW 745 —
o |FR-ERRAERl 25 —
TRR manun 535 —_
K 2 —
Z Dt 99 —
Ivat 6,495 0 0 0




TR0 EARRALER ()

FR31E3 A 22ARAE GRERIE)

NEEEZBETHLDE. BEFOBEYHHEENMONES, _
2) FRTRLTWSmB L. Bk RERE-4) VT RVELEEMBAFBERARRICE TIRELRD
REDER. MBRTHACENATREINLDTY . BHE., FROGZEHENGVRY, THRTRLTWSRB . E

HWARICEHOEEF R TRBEL TV -BRATHIZEEZRLTLET, .
EBMBICOVWT. SEET. [/ AEEEASRELTME | LTRE/AEEENTRELMRE IITRAILT

WFET,
. BBa
Ew | aee | saew | S0 -
(508 S EEAERERE) (58 S EEA TR E)

EEY 685 —
=EY 23,597 —
K 434 —
B8 45-2Rmes 0 —
BREK 2 —
Zott 16 —

INEt 24,735 0 0 0
EEY 674 —
=EY 20,434 —
K 1738 —
s [FA-LRARE] 100 —

"~ B4 BEEA 122 15 THE@), Y<AB), Y IRYRAE)

BRHK 5 —
Zoth 49 —

INEt 23.122 15 15 0
EEY 94 —
=EY 4,149 —
KEW 14 —
BER [F5-nEmpes 12 —
BREK 0 —
zott 5 —

ANt 4274 0 0 0

2EY 429 4 av7IS0), AL TISA) ., HHU5TA(2)

=EY 15,766 —
KEW 19 —
o |FR-ERRRS 9 _
WHR | g e mien 17 =
BRHK 0 —
Zoth 26 _

INEt 16,266 4 4 0
EEY 233 —
=EY 7,036 —
KEW 10 —
_|Hs-nmmes 22 —
BER | ma s 0 =
BRIk 4 —
zot 12 —

ANt 7,317 0 0 0
EEY 115 —
=EY 314 —
JKEW 36 —
waH A Rmes] 31 =
BREK 8 —
Zot 10 —

INEt 514 0 0 0
EEY 100 —
=EY 1022 —
JKEW 83 —
meE s RmEea 79 —
BREK 3 —
Zoth 5 —

INEt 1,202 0 0 0




TR0 EARRALER ()

FR31E3 A 22ARAE GRERIE)

NEEEZBETHLDE. BEFOBEYHHEENMONES,
2) FRTRLTWSmB L. Bk RERE-4) VT RVELEEMBAFBERARRICE TIRELRD
REDER. MBRTHACENATREINLDTY . BHE., FROGZEHENGVRY, THRTRLTWSRB . E

HWARICEHOEEF R TRBEL TV -BRATHIZEEZRLTLET, .
EBMBICOVWT. SEET. [/ AEEEASRELTME | LTRE/AEEENTRELMRE IITRAILT

WET,
. BBER
R BRH BEEY ﬁgﬁ_&
[t/ ARGEARSELSE] [t/ B GEA A RS E ]
BED 426 6 3L F7IS5(6). a2 F7IS5N)
sEY 2,378 —
KEY 38 —
o |FL-IRARR 6 —
TER | manun 5 _
BREK 0 —
EoL 32 —
INE 2,885 6 6 0
1) 7912 8401), TER7(), a5 (3).
BED 128 16 NFAGTF)  2UAA1TF 1) FALAS ),
TYRT (1) THESAZ (1), 2847 (2) F2A2(2)
BEY 557 —
s KiEw 0 —
R gz rmaR 2 —
23S 15 —
BREK 37 —
Ex 3 —
INet 742 16 16 0
BEW 359 3 aL7IS(3)
sEY 8,140 _
KiEw 0 —
o |FE-ARmAERl 13 _
R mapmn 389 i S SRR
B K 27 -
Eoy 26 —
INE 8,954 4 4 0
Y 159 4 :L;J(?)?fl)j_ﬁgid)?’ﬂb‘ﬂ) LSYXTITSUAD
EEY 1,248 _
. KEY 59 —
HER |4z 0mmEeR 3 _
Tk B B 9 —
Bk 35 —
EX 28 —
IiNat 1,541 4 4 0
BEY 103 _
BEY 26,656 —
KiEw 401 _
imiE [Fo-Brmesl 77 —
Bk 0 —
Eo 80 —
INE 27,317 0 0 0
BEY 3 —
BEY 63 —
—a KEY 2 —
BUR 0 —
Ex 1 _
IiNat 69 0 0 0
BEY 3 —
sEY 1 _
BIE KiEw 2 —
E N 0 —
IiNat 8 0 0 0
BEY 14 —
sEY 0 —
1E3e KiEw 0 —
E N 0 —
It 14 0 0 0




TR0 EARRALER ()

FR31E3 A 22ARAE GRERIE)

NEEEZBETHLDE. BEFOBEYHHEENMONES,
2) FRTRLTWSmB L. Bk RERE-4) VT RVELEEMBAFBERARRICE TIRELRD
REDER. MBRTHACENATREINLDTY . BHE., FROGZEHENGVRY, THRTRLTWSRB . E

HWARICEHOEEF R TRBEL TV -BRATHIZEEZRLTLET, .
EBMBICOVWT. SEET. [/ AEEEASRELTME | LTRE/AEEENTRELMRE IITRAILT

WEY,
. ZBe
A N papy | AR
(S AR EENERAHE] (8 AREENTRARE]
BEW 4 —
=EY 52 =
KEW 0 _
weg 4a.mmanl 5 =
H K 2 =
Z0ft 0 _
e 63 0 0 0
BED 21 —
=EY 936 =
. KEH 4 —
BAR ta.ammam 0 _
Zot 3 =
I 964 0 0 0
BED 3 —
“EY 2832 =
KEY 7 —
=s8 49.98ma8] 0 =
4 B BA 0 —
Zot 1 _
e 2.843 0 0 0
BED 96 —
=EY 365 =
s |FT-EEER 0 —
R ok 0 =
Zot 11 —
e 472 0 0 0
BED 47 —
SEY 49 _
KEY 31 —
s |4 nman 4 =
H K 1 —
Zot 0 =
I 132 0 0 0
BED 5 —
“EY 0 =
KEY 2 —
KR |4o-amman 1 —
H K 0 _
Zot 0 =
e 8 0 0 0
BED 10 —
=EY 10 =
KEW 11 —
EEE (43 22mag 1 =
H K 0 =
Z0ft 1 —
e 33 0 0 0
BED 17 —
sEY i _
=88 | mEK 0 =
Z0f 0 _
e 18 0 0 0
BED 37 —
sEY 29 =
N KEY 35 —
MRUR g marm 0 _
Zot 75 =
e 176 0 0 0
BED 1 —
“EY 992 =
o IKEY 2 —
el 0 =
Zof 0 _
e 995 0 0 0




TR0 EARRALER ()

FR31E3 A 22ARAE GRERIE)

NEEEZBETHLDE. BEFOBEYHHEENMONES,
2) FRTRLTWSmB L. Bk RERE-4) VT RVELEEMBAFBERARRICE TIRELRD
REDER. MBRTHACENATREINLDTY . BHE., FROGZEHENGVRY, THRTRLTWSRB . E

HWARICEHOEEF R TRBEL TV -BRATHIZEEZRLTLET, .
EBMBICOVWT. SEET. [/ AEEEASRELTME | LTRE/AEEENTRELMRE IITRAILT

WEY,
. ZBe
A N papy | AR
(S AR EENERAHE] (8 AREENTRARE]
BEW 6 —
=EY 5.432 =
eER | kEw 0 _
Zot 1 _
e 5.439 0 0 0
BED 3 —
=EY 318 =
KEW 0 _
BLE |42-22maR 0 =
H K 0 =
Z0ft 0 _
e 321 0 0 0
BED 4 —
=EY 207 =
I kEm 0 =
EER \so smmag 0 _
Zot 1 —
I 212 0 0 0
BED 6 —
“EY 1099 =
wom | kEm 1 —
Zot 1 —
I 1,107 0 0 0
BED 23 —
“EY 41 =
KEY 5 —
. |Emiaemasl o =
BER | mapnumn 33 —
K 0 =
Zot 3 =
e 105 0 0 0
BED 5 —
SEY 55 _
o KEY 2 —
BIR ws.ammag 0 =
Zoft 2 _
e 64 0 0 0
BED 15 —
=EY 7 =
KEW 4 =
2ER 4a-mmaRl 0 —
H K 0 =
Z0f 1 —
e 27 0 0 0
BED 23 —
sEY 3 _
. KEY 7 —
BAR ts.ammag 4 _
54 BB 0 =
I 37 0 0 0
BED 11 —
=EY 88 =
| keEm 0 _
BER ok 0 _
Zof 1 —
e 100 0 0 0
BED 10 —
SEY 1086 _
- JKEW 1 —
EER s smmaml 1 -
Zoft 0 _
e 1.008 0 0 0




T REI0FEE A RBEHER ()
FERL31EI A28 RE GERIE)

NEEEZBETHLDE. BEFOBEYHHEENMONES,

2) FRTRLTWSmB L. Bk RERE-4) VT RVELEEMBAFBERARRICE TIRELRD
REDER. MBRTHACENATREINLDTY . BHE., FROGZEHENGVRY, THRTRLTWSRB . E
HWARICEHOEEF R TRBEL TV -BRATHIZEEZRLTLET, .

EBMBICOVWT. SEET. [/ AEEEASRELTME | LTRE/AEEENTRELMRE IITRAILT
WEY,

. BARE
A N papy | AR
(8t AEEEAEEAHE] (8t AEEEATRARE]
BEM 12 -
e 19 =
smR | kEw 5 _
Zot 0 =
e 36 0 0 0
BEM 9 —
e 97 =
PN IKEY 1 —
AR wsammag 0 =
Zot 2 =
I 109 0 0 0
BEM 2 —
e 139 _
e | ke 1 —
KR spak 0 =
Z0f 1 —
e 143 0 0 0
BEM 8 —
“Eh 942 =
men | kEn 1 —
Zof 4 _
e 955 0 0 0
BEM 8 —
“Eh 2,900 =
R KEH 3 —
ERER  wk 0 _
Zot 2 =
I 2,913 0 0 0
BED 0 —
e 34 =
e | keEm 0 _
Zot 0 =
I 34 0 0 0
BED 59 —
e 128 =
KEM 90 —
4e-s0mmaR 894 =
ORI g e 0 _
SEK 205 =
Zof 3,356 =
e 4732 0 0
#“Et 289,213 307 298 9

X1 : FHIFEARRERR
#4851 :306,62344 (R #EEE1#20014)

X2 FH28FENRRERR
#aEt:322,56344 (R AEEEER46114)

X3 FHQIFEARKRERR
5T : 34031144 (RREEREE2914)

X4 FH6FENRKRERLR
e 31421644 (RREEREIA56514)

X5: FHBFENRKRERLR
#a5t:335,86044 (RAEE(EEE1,0254)

X6 PRHRUFEARBERRE (ER24F4A1 B URICERSA-HAS (BAEEXNZERMEEZEY))
85t 278,275M (B AEERE2 3724 (T ERFERZE17EET))

X7 FR24F3R 31 B LUETICERSN-RA (TERFEER SR OBRERZR
5T 137,0374 (BT ERHELE@1,20414)

X8 BEMPOMSMYEREIIZTELTHARIOEEICBULTERSATHNET,
HEBEHFBBRTILDIE, HAFIRISIERINTOSMBOLDAFEEAETHY.,
BREZOBEVGHENIRLNET,



